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PHILOSOPHY
[HONOURS]

Skill Enhancement Course (SEC)
Course Code : PHIL-H-SEC-T-2
[Logical Rules and Fallacies (Western)]

Full Marks : 40

The figures in the right-hand margin indicate marks.

Time : 2 Hours

Candidates are required to give their answers in
their own words as far as practicable.

1. Answer any five questions: 2x5=10
-l Ao drsm TeR mie 2
a) What do you mean by decision procedure?
ey srafe @me F @RI?
b) What is a set?
(X <P e 2

c) Test the validity of the argument by truth tree
method:

oAl omfed W IEHa @ael 15w

4 s
A«>B ~A—B

[Turn Over]

d)

g)
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Is the following statement true for all sets A,

B and C? If not give one counter example:

e 9wt & A, B € C < @17 GFd
ey 2 AWM = Ol G [eiE 73 wis ¢

AegB&Beg(C—AgC.

What is Domain of Individuals and complement

of a set—Show giving an example of a set.

o5 g e AT @ e —E0T 90
VIR ST (e |

Express the followings by drawing a Venn

diagram:

Aok ah cov @ifbare T e
59 ¢

C#na
(AnB)~C=nx

Apply truth tree method to test the validity of

the following statement:

Tepdl Amfe erel F@ NS [yt
@l A 9 ¢

A— (B —=A)
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Symbolise in set notation:

All Americans are philosophers.
Men are not reptiles.

@6 fifoite aeRe 33

AT SIPIAA w s |

SR APy 7 |

Answer any two questions: 5x2=10

- 76 AT TSR 7S ¢

a)

b)
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1) Test by truth tree method whether the
following sentences are logically
equivalent:

TN Amfed Wy Frae el
TS [ 9 O A F9 ¢

AvC)<«—>BVvC(C,Cv(A<>B)

i1) Use truth tree method to verify that the
following sentences are tautologies:

e el Foote & O O Ao
Aalied My Wofg 34 ¢

—(A B) (-A B)
[(A & B) v (-B & C)] —> (-A & -B)

Explain with examples that the relation of
identity between sets is both symmetric and
transitive but membership is neither, whereas

inclusion is transitive but not symmetric.

[3] [Turn Over]
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TR RN T @ EATE T SIS
(identity) TN F Wﬁ{% (symmetric) @3R
FREFNF (transitive) 8 7 eF (membership)
TE (FAHE 77, TMe Seefed (inclusion)
TG T [Fe TN 77|

Let,
441 I,

T={d}, W=/{cd}, X=1{a b,c},
Y={a, b}, Z={a, b,d}

Determine whether each of the following

statements is 'true' or 'false':

e Al oy wi2@l ey [y <9 ¢
Y cX, Tz, YzZ
W=7, T c X, wWcyY

Determine the following:

ot R 7 ¢

{H{rh AF 0 {AS

(RIS HER S

A And) ~ A

A} A
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d)

3. Answer any two questions:

What is 'mutually consistent' in a Venn
Diagram? Are the following asumptions
mutually consistent?—Explain by a Venn
Diagram.
(& (RIMbaret “siFsia sl q@Tre F @RI 2
fanffes avmafs s wofesd /v @
G CoFCIDEs N [T F9 ¢
ANV#Aa
VA S=Aa
ANS=#na
10x2=20

- 76 AT TSR 7S ¢

a)
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Test the validity of the following arguments by

using truth-tree method (any two):

ST ~Taifen R FERRe Feef el

o 9 (@@ vfo) ¢

i) India will win the game only if weather is
not bad. Weather will not be bad only if
weather forecast is not wrong. So if India
is to win the game, weather forecast should

not be wrong.

SIS (Y fererd @3e I SRt et
T A | SRR A AFE T F M
SRS AT T A1 2 | AR I SO
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b)
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(TR TErers 23 o1 SRR AS! gel e
BT <l |

i) P<>Q &R <=5
QvS)—T
—(T v S)
. —P & R

111) Moriarty will escape unless Holmes acts.
We shall rely on Watson only if Holmes
does not act. So, if Holmes does not act,

Moriarty will escape unless we rely on

Watson.

@ 3 e N wel, W Shfe i)
(FIENG (R FCG 1 Ao N
SR @7 fSa 9 | JoaRk @ I
Fe 1 e, IS e @ 3w @
I SAGAET 87 o7 |

Test the validity of the following argument by

Venn Diagrams in set theory (any two):

Set theory-(® (SR My Wl

Fealm @ael Rom 9 (@@ 9i5)s
i) ~Ac~BnO)

Cc~A

BcAu-~C

~~BulC)c~A
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ii)

iii)

All liars are prejudiced.

Some witnesses are not liars.

. Some witnesses are not prejudiced.
e N FAHET |

g ARRMre! A w1 |

ok Fg ARFEWIS! FAHFRTS 11 |

All poets are literators.

Some poets are philosophers.

Therefore, some philosophers are
literators.

e T AR |

g 37 v |

ek g wfas Mo

Give a counter example of :

gl Reaidl 73 e 3

[A~BuUO]=[A~B)uA~0O)] 3
Are the following assumptions mutually
consistent? 3
All scientists are educated.
No scientists are educated.

Can you infer that 'there are no scientists'?

e apaafe F stz sefosl
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iii)

e (qelie 2 Wi |

@ el 77 M |

O3 (AF Of Jl SN FAO AT @ @

e (722

Translate the following statements in set

theoretical notation (symbolic form): 4

fafie arpelie EoRiie Glasies

o) TS 9 ¢

A) Mangoes and grapes are fruits which
are usually loved by all.
I € IHS 261 G e Yl AIG08
FPEIR, ST |

B) All students who love philosophy are
disposed to analytical thinking and of
inquisitive temperament.
1 B J T SIeTaIeT & Rl
PEIeRe ¢ Sepie |

C) Some persons who drink both tea and

coffee donot drink milk.

g IfeE 1 51 ¢ Fe Teug 2 I
il 74 A Al

D) Not any visitors stayed for dinner.

I SNTEFL. (FHITSITE Soifge foat a1 |
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